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Here it is different, for the first one took her in

OVERVIEW

WX 21 refuted the proof of 727 (from the Xn>72) that 792 NRXAN 79102 NPIAA 17010
mn 12 we, for it is possible that generally she receives nothing, but here he was not
79IN2 NPT 0d since she was already married. Mo0In clarifies this rebuttal.
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And we assume that he married her knowing that she is a 79192 and not a 721n2.

mooIn anticipates a difficulty:
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And even though that the witnesses testify that she is not a 727w2, why should we
assume that NRW°1 72127 RNYTR —

mooin replies:
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He does not rely on the 2°7¥ that she is a 79102, since there was 81, and he
assumes that when the o> say that she is not a 79w3a that is only in order to
praise her, but not that it is the truth.

SUMMARY
Once a woman is a nXW1, we assume that she is a 77Ww32 even if 27y testify
otherwise.

THINKING IT OVER
Why should we assume that he does not rely on the 2>7v,” when we always rely on
07y and believe whatever they testify?!°

! Therefore there is no Myv npn and the 72105 of a AXWI or a T9WA is a 7n.

* He either assumes they were not P>, or they were not telling the truth. See “Thinking it over’.

? Marriage implicitly indicates that there was 7x"2.

* The 07y wanted that she should get married so they said that she is a 72103, for people prefer n¥»1na.
> See footnote # 2.

® See X"aw" and mw° nW (in p"now). See also X M 7"210.
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